
ΜΑΘΗΜΑΤΙΚΑ Γ΄ ΓΥΜΝΑΣΙΟΥ   Α.2.2. ΕΞΙΣΩΣΕΙΣ 2ου ΒΑΘΜΟΥ 

 

1          Επιμέλεια: Λ. Χ. Βλαχάκη - Μαθηματικός 

 

 

ΠΑΡΑΓΟΝΤΟΠΟΙΗΣΗ ΤΡΙΩΝΥΜΟΥ 

 

α.x2 + β.x + γ , α ≠ 0 

 

                                       Δ > 0        
     

   
           α.x2 + β.x + γ = α.(x - x1).(x - x2) 

                                             

  Δ = β2 – 4.α.γ            Δ = 0        
 

   
            α.x2 + β.x + γ = α.(x – x0).(x – x0) 

                                                                                                       = α.(x – x0)2 

                                       Δ < 0 (Καμία λύση)             Δεν παραγοντοποιείται 

 


